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10.
1.

3T 3T/INSTRUCTIONS

The question paper is in the form of Question Booklet with 50 questions. Separate OMR sheet is provided for
answering.

Question booklets have been marked with A or B or C or D or E on the right hand top corner which shall be written
on the OMR sheet in the box and bubble appropriately.

Each question is provided with multiple answers a., b., ¢., and d. Only one of them is correct. Use Blue/Black Ball
point pen only for marking your answers.

Answer all questions. All questions carry equal marks.

Multiple answers for a question will be regarded as wrong answer.

Enter your Name and Roll Number correctly on the Question Booklet.

All entries in the OMR sheet should be with blue/black ball point pen only.

Darken the oval against which post you have applied for the examination.

Candidates are not permitted to carry any reference books, logarithm table, calculators mobile phones etc., to the
Examination Hall.

Candidates are not permitted to leave the examination hall during the first hour of the examination.

At the end of the test, both Answer Sheet and Question Booklet shall be returned to the Invigilator.
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TEAIEA- (7 T
Technician — B (Machinist)

feriiet quT Rect 1 omguw ot #, Stet Sue & meR F uRadT % et & R gew
Y ST &, I GoTer B R Aam ——— § |

a. &t S e

b. ftie i R

e At Rrew

d. sTHITHE o 7|

n

In IS system of limits & fits, where the different types of fits are obtained by varying
the size of shaft, the name given to the system is

a. Hole basis system

b.  Limit basis system

c. Shaft basis system

d. None of these

Teh 3TTHYUT ¥[56 & U & ITET T TSHT 2 rad ﬁsmmmr%lﬁﬁmﬁ%ﬁwhaﬁ‘agﬁ
WY & BT H HHa Ream s 22

a. 10-20

b. 30-60

220 - 600
80 -180

a o

The grain size of a grinding wheel is indicated by number. Which range of grain size
is referred to as “Very Fine'?

a. 10-20

b. 30-60

. 220-600

d. 80-180
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Tafire 15 @ g8 ———— &

5
b.
c

d

gm/cc
gm/cm?
gm-s

S % @ T oft

Unit of specific gravity is

d.

a0 o

gm/cc

gm/cm?

gm-s

None of the above

Teh HIURUT Sg¥ST b TR JFARTE Hion & I ——— &
a. 720°
b. 360°
c. 480°
d. 120°

Sum of the interior included angles in a regular hexagon is

d.

b.

o

d.

720°
360°
480°
120°

AT SURT & H0T T 316 28 WSS & TTHYUT T Pl WA BT F TABIAT 6T ST
2| & BHAT B g B & TAT T - ITHIOT HT ITAFT HWM?

e
b.

n

d.

CILIECED

THE TH
[T =H
THS TR

Due to continuous use, the grinding wheel of an off hand grinder is glazed locally.
What tool will you use to rectify these defects?

a.
b.

n

A

Buffing wheel
Diamond wheel
CBN wheel

Diamond dresser
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D30 17/ & wrAet H H7 ' ot g e 2 |
a. g & aR |

b. T BT 3MBR
c. fhe

d. AT

In case of ®30 H7/49, the * H7 * indicates -
a. Hole size ‘

b. Shaft size

c. Fit

d. Allowance

TH PR & 51 AEW 8, T Afwied 78 w1 | gis agw § 6° o / g gwia g
Rﬁ.ﬁ.ﬁmﬁwm%lwﬁg%mmﬁwﬁmmﬁww&h——
= |

2{(8/360) x TIR?}

b. (6/360) x TR

2{(8/360) x 2ITR}

d. 2{(8/360) x 2I1R?)

o

0

A car has two wipers, which does not overlap. Each wiper has a blade of length
R ¢m, sweeping through an angle of 6°. The total area cleared in each sweep of the
blade is: :

a. 2{((8/360) x TIR2)

b. (6/360) x TIR?

c. - 2{(8/360) x 2ITR}

d. 2{(6/360) x 2TIR2)

mﬁmméwwmwmﬁ,mwaﬁm%wwm@
I T TR 1T 55 ST

3T T AT BT 92 ST 2

T % SRTRT BT 7 g giadT T8t

T @ T o T2 |

What is the effect of clearance angle of cutting tool in lathe, when it is set above the
center height?

/a0 oow

a. Front clearance angle gets increased
b. Front clearance angle gets decreased
c. No change in front clearance angle
d. None of these
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AT I8 T GATUE DTS TN & T G BIA b [T BIA-HT IUHLOT GS1 el 1w 3tad
2?7 |

a. BN

b. WAEE

c. THHE I FETES

d. TITHETH

For turning cast iron, which tool material is most suitable for turning with maximum
cutting speed?

a. Diamond

b. Stellite

c. Cemented carbide

d. HSS

1 HieT HIsTE, 1 Hiex darg ofiX 1 TH.HY. #ieE & gaa g i (39 2.7gm/ cc) BT X
et

an oop
o]
RN
s

=

Weight of aluminum sheet (density 2.7gm/cc) of size 1 meter width, 1 meter length
and 1 mm thickness is

ca. 27kg
b. 27kg
c. 027kg
d. 1lkg

Hrgaet Afi & 39 FfeoT gonedt @7 o A 2, R Sueter St awatas Rafa @t e
et 7 © T stmar 87

a. SO =0T
b. &t g

c. drrae f==iEoT

d. 379 & g | g

What is the name of the control system of the CNC machine in which the actual
position of the tool is compared with the input value?

Hydraulic control

Servo control

Pneumatic control
None of these

o op

Page 6 of 20 A



12.

ic

14.

20H7w%w%aaﬁgﬁm%lugaiaﬁ%?@q%em%awwﬁm%w%m
T, 31T T A0 G & ST )

a. WWW&T

b. afEX AEHRET

c. Al Slamy

d. ST T gt

A hole of Diameter 20 H7 is to be finished. What measuring device will you select to
check whether the size of hole is within the limit or not?

a. Limit plug gauge

b. Vernier micrometer
c. Vernier caliper

d. Limitring gauge

mﬁ@amﬁmﬂqmm%ﬁﬁﬁw%nﬁ%ﬂmﬁéﬂ——_uﬁﬁﬁm%l
a. 0897
b. 0¥ 8
c. 187

n

'd. 198

Morse taper is one of the internationally accepted standard tapers. The Morse taper
are available in the form

a. Oto7
b. 0to8
c. 1to?
d 1to8

T e T o 36 Sty 7 3 fr.oft, witeqm 3 | s R e —_ 3
a. 12T,
b. 75 M.

¢ 80 TH.AH.

d. 108 T4,

A gear wheel has 36 teeth & 3mm module, its pitch diameter is
a. 12mm

b. 75mm
c. 80mm
d. 108 mm
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15.  0.018 =T Teremst 0.003 H & |

a. 0.6
b. 1.8
c. 6
d. B
Divide 0.018 by 0.003
a. 0.6
b. 1.8
e 6
d 3
16. =3l Ud SUAEEL | 9rF U dH w56 gredt & U I H 5T 383 ——————— 2 |
a. < 2P BT UYT Hd 2 |
b. o e & dTH =k qeb Tl | ST I WS B &
c. I I BT U7 B &

d. I 6 T 91 ST a6 T A ST OHT U B 8

Main purpose of using worm & worm wheel drives in machine and the accessories is
to

Transmit large torque |

Provide large speed reduction from worm shaft to worm wheel

Transmit higher speed

op T

Provide large speed reduction from worm wheel to worm shaft

17. UF IF & Y &I AT BT AT —— S [ FATAT2 |
a. FTIEE ataaY Hiauw
b. TAST AISHHIET
c. Trer gu air o
d. Rrewiwx

The tooth thickness of a rack is measured by

Universal Vernier caliper

a
b. Flange Micrometer

c. Gear tooth Vernier caliper
d

Gear tester
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18.

19,

20.

oo

wﬁsﬁwmfﬁw%}uﬁaﬁ%w%lﬁﬁ%ﬁﬂﬁﬁ@aﬁ?—wmﬂaﬁ?@mﬁﬁvww

T STeTT?

a. TS MEE

b. RAfET HioT

c. T G HT
d. SUHIT IET g

A shaft is turned in one finish cut. Which one of the following parameter will

directly influence the machining time?
a. Cutting depth

b. Setting angle

c. Diameter of work piece

d. Tool travel distance

4/5 afra%maﬂﬁuﬁaﬁ?r_a%!

0.5
0.4
0.8
0.6

Convert 4/5 into decimal.

0.5
0.4
0.8
0.6

po o

‘B T 27
T & THT Y g T TR T I AT

T & THT BTS IUHIIT UT WX B BT
I BTG T TR G 0 H TERET 37

ao oo

What is the function of steady rest?

a. To prevent bending of long shaft due to cutting force
b.  To avoid load on the lathe center while turning

¢. To reduce the load on the cutting tool while turning
d. To enable to turn at high cutting speed

- Page9of20
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22,

23
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W@ﬁﬂﬂ%ﬂ?ﬁ%ﬂ%ﬂ?ﬂéﬁf—mﬁmwﬁl

IUHIIT TATSE & THSH g

d

b. ST URVT & BIS T BT 0T b
c. BRI WSS Tetehy

d. % I & SATIH ERT

In a planing machine, the depth of cut is given by

Adjusting tool slide

Rotating the feed screw of the tool hold
Moving cross slides

Lifting the workpiece

ap e

Ui HIEY Fellg ¥ T TP T U OY ATIHT TF FHae Hag 0 A H1 8 | 38 fow s

P-| A Bt FA1?
a. WA
b. ¥iteT
c. Tafeem
d. <ifm

You have to machine a flat surface on a work piece of five meter length. Which
machine will you choose for this?

a. Planing

b. Slotting

c. Milling

d. Shaping

At met o —— [ gy e e s 21
a. WA

b. TF TSR

c. TEHFH

d. T® @ IS YOt

CNC machines are controlled by means of

a. Program

b. An operator
c. Acam
d. A plugboard system
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24,

25.

26.

arE ‘T F I U qHETE Bt @ o
a. V3/4w2
b. V3/2w
c. V3/6T2
d. 3w

Area of a equilateral triangle with side ‘a’

a. V3/4a?
b. 3/2 a2
c. V3/6a?
d. V3a?

TR —— & Ty Rear sar 2
a. Toz R ¥ e |

b. 55 &t St PR % =T A & *7w
T ETTnT & R

d. Wihe 25 TPt B TATAR w7 & g

n

Counter boring is done for

a. Deburring hole end

b. Enlarge hole to accurate size

c. Finishing deep

d. Accommodate socket head screws

d @ @ % 3 Aaey 27

o @ e
AT g
I

T BT US

d @ @ means?

Direction of lay
Sample length
Machine
Roughness grade

g F p

B

Ao oo
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27.  UE ‘T W g U T BT HAE HF ————— & |
a. 672
b. 67
@ T
d. 3w

£"_ 1

Surface area of a cube with side “a” is
a. 6a?

b. 6a
c. ad
d. 3a?

28.  IOTT FTEAOT HAE 0.4% HSIT HNT & a7 & | 500 WM & T 318 H (et TSI AN 2
e 11 W 27
a. 1
b 2
c. 10
d. 20

The quality control allows at the most 0.4% defective parts. How many defective
parts can be allowed in a product of 500 parts?

a. 1

b. 2
c. 10
d. 20

29. aﬂmﬁmﬁfmoo"wwq——%
a. YITH & gAM
b. & F1 RO goiA
C
d

. fa s o & s o @A
. TR 9 TE AR

In CNC program, the command “M00” means

a. End of program

b. Clockwise rotation of spindle
c. Stop program unconditionally
d. None of these

MT/12 | Page 12 of 20 A



30.

31;

32

23,

39 HAg TEAT & USE ﬁwmﬁi%m%w*&&maﬁwéﬁv%mw%?

a. WHdg vear
b. Hdg HEAT
c. o

d. afk=w

The component of the surface texture upon which the roughness is superimposed is

b

known as
a. Surface roughness

b. Surface texture
c. lLay
d. Waviness

T g1 1 ORI 66 FHLAY. B | et o ———— g
a. 21fRAnL

b. 42 f.H.

c. 33+

d. 11 .+,

Circumference of a circle is 66mm. Find its diameter
a. 21 mm

b. 42mm

c. 33mm

d. 11 mm

T T AL T 3 Wge ———— W amRiRE 2|
Y

a.

b. HEIA
c.  TTOY iR
d. HEA

The tool point of a planing machine is mounted on
a. Apron

b. Cross rail

c. Clapper box

d. Saddle

fFrfeiaa 7 & Bi9-|1 T $EW st £7
a. THY

b. IWUHE

c. TP FHES

d. T ¥ g o T2 |

Which one of the following is an artificial abrasive
a. Emery

b. Diamond

¢. Silicon carbide

d. None of these
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36.

3.

wep fisg, RTeet 7 Tt 90 2, 6t 3 fiog ad & | Tieiiord o  Si-9T 378TT JTem
fisg o1 Wi T &7

a. g

b. T®

c. St

d T

A hole whose lower deviation is zero called basic hole, which one of the following
letter indicates basic hole

a. E

b. F

c G

d. H

I e wei t —— & Tfha fpar stmar 21
a. Tdudayyd

b. @HEES

C: @Eﬂ'QT-T

d. SIUHS

Solid milling cutters are manufactured from

a. HSS

b. Carbide

c. CBN

d. Diamond

S WA JATaet H HrRa fopar S & |
a. oI

b. =i #7sT=

c. T anfer et

d. 9w

Quick return mechanism is employed in

a. Lathe

b. Boring machine

c. Jig boring machine

d. Shaper

T UIEe T UiEe 0T YUTIel! hael PR | & T Jaie & 3y 3tad 2 |
a. Moo '

b. =i

L

d. TmgtsT

A point to point control system is suitable only for one of the following operations

a. Milling
b. Turning
c. Drilling
d. Grinding

MT/12 Page 14 of 20 A



38.

39.

40.

FerAferiar ferstwarart F & Fia-ar i i = ot dasf w22
T T & BROT IS 3Tl o 7T Suiy fpar srar 2|

TR 1 & T 913 et % Ryg sugir fear st 2|

T T ST & Ui Hegaeiet 72T |

92 T g3 el & e st

oo

Which one of the following features refer to vitrified bonded wheel?

a. Used for large bonds due to a dense stretch
b. Used for large bonds due to an elastic stretch
¢ Not sensitive to shock and pressure

d. Suitable for wet and dry grinding

waﬁaﬁﬁw%a&ﬁvaﬁwﬁuwaﬁﬁmw%lﬁmﬁaﬁmﬁﬁaﬁ?ﬁﬁﬁ%ﬁ
SUHT BT STFNT 6T ST 22 ‘

a. O ST I%

b. SISTEE

gt we

d. H¥we

£

* An irregular shaped work piece is turned on a lathe. Which one of the following

work holding accessory is used?

a. Threejaw chuck
b. Two jaw chuck
¢.  Driving plate

d. Face plate

o 8% € F T T W BI-8 20X BT STFT R 1T 82
ST 2T

9 T I U

frer 2ux

A 2T

a0 oop

Which taper is used on spindle nose of the lathe head stock
Jerno taper

Burn & shape taper

Pitch taper

& 0 oe

Morse taper
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41.

4.

43.

TET o BT AINTT e T s ——— E7 9T |

a. 3[Eh gdl

b. ThEtwraa

c. /AR

d S«

While machining Cast Iron, the coolant should be
a. Dry air

b. Kerosene

c. M/Colil

d. Water

e Tt & et Traforiaa & & -9 T ol = & IUHoT $ F B IaT 87

a. UH e T

b. Rea qar

c. TFAT G

d. T ¥ T W T2 |

Which one of the bushing used in drill jig permits cuttmg tools of different diameter?
a. Press fit bushes

b. Slip bushes

c. Liner bushes
d. None of these

w&s@gaﬁl”a}wﬁ%mﬁaﬁmﬁ%ﬁmwilwsﬁ@wﬁ@gﬁ"l”ww
aﬂ?ﬂ%‘?

a. oS W I AH

b. 4T B AT AH

c. UL HI U AY

d. Y Rgs=m

A screw thread is designed as 1”BSP In 1 inch BSP thread what “1” indicates?
a. Major Dia of thread

b. Minor Dia of thread

c. Pitch Dia of thread

d. Hole diameter of pipe

HTUHT T T e B e 21 2 | Frmfeiera § & 3¢ &t Sia-47 fastwar g9
IE &7

a3t Fau W & WY 31T T ® BT B

MT/12

b. T TS HI0T & T GO ST 23
c. TS Mau @ & WY HH W1 H FIE B
d. 37T 3 FIF F AT FITA 1Y F2Tg

You have to mill an aluminum job. Which one of the following feature of the cutter is
suitable for this

More number of cutting edges with more chip space

Straight teeth cutting with long wedge angle

Less number of cutting edges with more chip space

Helical teeth cutting with zero rake angle

po o
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45.

46.

47.

g &8 & foTg Suger f3er 1 g 9 gzar?
T2 Bl T FIT

BIS HTet HIvT g
TsfeT BT 19T 2T

WEE HIT W, Y 90° 2

RO

How do you recognize a drill for soft metal?
a. By the large helix angle

b. By the small helix angle

c. By the chisel edge angle

d. By the point angle which is 90°

T HIE I T Wt W W T ¥ A 6 9 A 0 Rig gw B O @
e & | |

W .

ETSURE AT

EREICH

BlcEn

The curve generated by a point on a circle when the circle rolls on a straight line

o n T

Cycloid
Hyperbola
Parabola
Ellipse

AN o

BN & AT TR SR IUH0T gared - 27
T

TETHTH

o

. T | T

Which is the hardest tool material next to diamond?
HCS

HSS

CBN

None of these

T

P e
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49.

50.
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T et 79T & SR 28 &7 3uahT ——— & 17T Rpam sfmar 21
THIT BT T Bt HH H & AT

T RBT9T 1 gumA & Ty

T o g9 o R 8% $3 g a9 & oY

ST H W U Al AR |

Ao oo

Indexing head in a milling machine is used

a. Toreduce the speed of machining

b. To improve the surface finish

c. To drill holes on a pitch circle diameter

d. None of the above

T TS IUHIIT T T 3P BT ——— & {7 UG fomar S 2 |
a. = uerd & wafitar & foo

b. WX UST & M & 7w

c. T uaTd & AT & foTg

d. =g % "M & fAw

Zero rake angle is provided on a cutting tool for

Machining ductile material
Machining brittle material
Machining malleable material
Machining rubber

oo T

SUFRVT F ST TAT FETG T HI TR FIA & H B STEAT HIAATAT G

a. VIr=C

b V=0

c. VI=C

d VT

The formula explaining fhe relationship for determining tool life and cutting speed.
a. VIn=C

b. V»=C

c. VI=C

d VT
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